Problem Set 2
Due:  November 8, 2002

Read the article distributed in class and address the following questions.

Do you think defense alliances (e.g., NATO) provide public goods to the alliance members?

What are the attributes of public vice private goods?

Why do you think alliance defense expenditures do or do not satisfy these conditions?

Do you agree that the publicness of alliance defense expenditures has changed over time (i.e., since the mid-1960s?

What attributes of alliance defense expenditures have changed and how?

How have these changes affected the publicness of alliance defense expenditures?

Does the ratio of defense expenditures to GDP measure the level of “free riding” across alliance members?

What are the benefits and costs of alliance membership, and are they captured by the ratio of defense expenditures to GDP?

Should we expect the ratio of alliance membership costs to benefits to be equal across alliance members?

What impact do you think the end of the Cold War and the expansion of NATO membership has had on the publicness of defense expenditures across alliance members?

How has the end of the Cold War affected the costs and benefits of NATO alliance membership?

How would you expect this to affect the ratio of defense expenditures to GDP across NATO alliance members (new and old)?

You may work in groups (preferably no more than three students/group).  Try to constrain your answers to no more than five typewritten pages.  We will discuss you answers in class on November 13.  Each group should be prepared to summarize their arguments in class on November 13 (i.e., I may ask representatives from some groups to describe your groups consensus on a particular issue).  This is informal (no PowerPoint required).

